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Tnterval  Scheduling-
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Story - only | classreom.
Schedule s many  clogses  as  possivle Wo  conflicts,

If (s §) ed (G565 b et overlap,
there s no conflict  between them.
Dutput - the  maximum number sf  mterals that we can
QckeduLe without cov\fb‘c,t,,
example 1. (L g)  (23) (#5) (6.7)
AN

~ OFT =3
Example 2. (1.5 (6,10), (4,7).
. Y v
- v S e
Exampe 3 - —
— —— — OFT = 4
M —

C;\reeolj: dQCfo\K on (N §me]e W\Q thet selects the YC,\,—&&
wtorval  ond  inclde £ the fnal  solution.
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Romoe ol intervds that Cconfliet with the Dzzwcm

interval |
Cheose on Oerd  that Stocts the earliest,

This is vt optimal  (see Example 1)

Choose g Shortest  interval .
This & not  optimal (e Exanple 2)

Choose  on inferval uith the fewest aumber of Covflicts
This e twt  optima| (cee  Example 3)

Clhoose an interval ‘H\&t 'fr'm’shes the earliest .
( break ties o\r(oi@mrilﬂ)
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(orcectness :
- We output & Compalible <et of Wtervals. v

~ We output o0 optumal Solution .

ldea. Compare the a&ﬁoriﬂxm‘s Solution Wvth
Some  optinnal Solution .

Pﬁ_ﬁ:’i: Foc an input.
let |Ajl=k be Yhe <et of  itterval cheosea by GREEDY
Let [Ol=m>\< be. an optimal  solution .
A= (o tay = ) ™ Ondred  from left B right
O= (5u. Jz L 5.
Claim: ¥levzkr  £G)= £

Base cose + FCE0) < TGO
Inkucte step.  Suppose Fli ) < £L9e-0),

Tl:e,n 'Eﬁfrm) < Fﬁj‘—).
Ao — oo U A This impossibe  because
0. T e GREEDY  can Pl\clﬁ the.
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Consequently , (%) <= §(3y). = Controdice thet [Al=k
Because GREEPY cCan
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1mp[efnehtat{on O\V\ol Ry ntime_ . (_"\ ‘\"w"“‘s)‘

@(/n(e@h) Sert  al  interuals by —F(n?nf&?vir\f) tme Cearbj to late)
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